L
oo
ol
=

2
e

gt ol Al L9

@ x(2x-1)=3x2+1 @ 32 +x=3(x-2)2
@ F¥-dx+3=1+x3 @ 2x3-x=0

® (x-2)(x-5)=x*-10



@D 2x2+3x-4=0 @ 4x>-2x+1=x%>-5
1
@ 3x2-—x4+2=2x2-Tx @5x2—3:5

® 2x2-1=(x—-1)(2x+3)



3. olAMIAA (x-1)P2 =x-3ZFax’ +bx+c =09 E& YEhd o,
a-b+c 9 A& FoHH? (Ha>0)
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O x?+2x=x(x-1)
@ x*-3x=(x+1)(x-1)
® x(x2+1)=x*-2
@ (2x+1)(3x—4) = 6x2

® (x-2)(x+3)=(1-x)(3+x)



@ x(x-7)=x*-Tx @ 3x(x+2)=2x*+x+1
® (x+4)2=2x2+2x+1 @ (x+1)2-3(x+1)=28

® (x-1)(x+3)=3



e WA (x+4)? =5x+ TS ax +bx+¢c =09 &2 et
a-b+c 9 g2? (& a>0)
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@ (x+2)(x-3)=14 [-1]
® x*+2x-3=0 [3]
@ x*=-4x+12 [-2]

® 2x(x-3)=0 [0]
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@ (x+1)(x=2)=0 O x2-x-6=

© 2x>-5x+2=0 ® (x-1)2-4=0
@ x2-3x=0

® 174 @ 271 @ 374 @ 4 7 ® 574



9. o= H719 oA A4 FolH x =2E S 2 Ae BF A=Y

H7]
@D x2+2x=0 © (x+2)(x-2)=0
© x*-4x+4=0 ® x2+6x-3=0
@ (x-1)?%=1
ONONGNG) @ 0,6 6 ONGNONG)
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10. 9= FoMd x =03 x =28 BF |2 7HA] = oA A 2?

@ x(x+2)=0 @ x(x-2)=0
® (x-1)(x+2)=0 @ (x-2)*=0
® x*=0
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x7F—4,-3,-2,-1,0,1,2,3,4, 54 o, o]ZAFYZA] »* -x-12=0
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D -3, 4
@ 4,5

@ -4, 4
® -2, 3



12. x7b-1, 0, 19 o, ol 24 42— 3x— 4 = 0 ©] $S T5A?

® -1 @ 0 ®1 @ -1,4 ® 4
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14. xof B3t oA A 2x2 — 1lx+a =09 3F Zo] 24 W, ¢ 9] k&
Fotu?

@ 14 @ 13 @ 12 @ 11 ® 10



15. FoJAAA 2 +3x+a=0T x*-2x+b=00| BF 1S TC=
7Hd o, 45 a, b O G227
Da=-4,b=1 @ a=-4,b=-1
®a=-3,b=1 @ a=4,b=-1

® a=-3, b=-1
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